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IR E: Foitmmes i, misRER?
O S3+42=+5 (AIEHH)
(2) a + b :a\/g (7T<Ifﬁﬁ)

& Ja-Jb=a—b (A IEHH)
o awla+bla=(a+bNa  CEH)

(5) %\/3 —%\/251 — Ja - Ja = 0 (BAIEB)
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A. 2% ++3x =/5x

B.2a\x =3bJx = (2a-3b)Vx

C.4/5 x 55 = 2045
M J22b

2

=7a =/11b
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(1)4/80 —=+/20 ++/5 =5
(D18 + (W98 —/27) =10v2-34/3

(3) (\@+\/ﬁ)—(\/g—\/g) =3x%+1«5

(4)@—3\[“0@ 08——f 42 -3
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DO 2 123415
V12

(2 G+y10(H2 =+/5)




D W3+VDHE3-+2)

(2)  (3+424/5)?
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(1)(2v2-343) (33 +242)
(2)(2-+2)(3+2V2)

W) Tt = (242) —(343) =8-27=-19
(2) JF =6+4y2-3V2-4=2+2




frﬁ
(2) @(1—@)—3@
(2) 1++/2)(2-+/2)
(3) (3/5-5v2)
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(1) % ﬁ&tJ‘f‘J_J_J_Inszg%
i AR 3 A
(2) & FIFEIEHKZE ¢ C )
(A)N2+B=+5 (B)2+V2=2V2
(NG =51 (D) G
(3) WfE: FHFEEHNE ( ¢ )
(A)V107 ~8 =10 —/8* =10-8 =2
(B)(2+342)(2-3V2)=4-3x2=-2
(C) (a+b)><\/—(a b)= 3(a2— 2)
(D)

D( ) —54+6=11
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J6 +14F17 +/13

R (6 +14)°= 6+3/ g7 +14=20+3 87
' (J7+413 )2=20+2\/9T

L6 +4014 > 0 J7 +413 >0
V6 +14<7 +13
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Cfla=~3++/2,
h=+3-+2,

Ka”> —ab+ b1 H.
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(12 =3, RAHE (x-2)" = (x—2) (x+2)
+231E

(2)Ea =3+235,b =3-25,Ka’b — ab’fI{H



